Please Return Register To Wedding Desk



We are delighted to hold the Wedding Gift Register of:

| Bride's Name | Ms Aoife Farrelly | Bridegroom's Name | Mr Conor Sexton |
|--------------|-------------------|-------------------|-----------------|
| Contact No. | 01-2855412 | | Reg no. 6329 |

PLEASE NOTE THAT PRICES ON WEDDING LISTS ARE SUBJECT TO CHANGE

Guest please note:

- There is a €7.50 delivery charge
- It can take up to 2 weeks for an in-stock item to be delivered
- If the wedding is within the next two weeks it may be advisable to take your purchase with you as we cannot guarantee delivery prior to the wedding
- Please ensure your purchase is marked off in the register

Ordering Gifts

If the gift you select is not in stock please ask the sales person to order it for you

Extra Info

<<guestinstr>>

Telephone: (01) 805 0400 Fax: (01) 805 0577

Web: www.buy4now.ie/arnottsweddinglist

E-Mail: <u>lists@arnotts.ie</u>



COOKWARE

GIFT & KITCHEN DEPT. L.G.FLOOR

| Item Description | Brand/Design | Qty Req | Each | Total | To Date | Qty | Dept | Page No | T/S/O |
|------------------|----------------------|---------|-------|-------|---------|-----|------|---------|-------|
| WOK SET | BODUM CHAMBORD TABLE | 1 | 46.50 | 46.50 | | | | | |
| | WOK | | | | | | | | |

CUTLERY

GIFT& KITCHEN DEPTS L.G. FLOOR

| Item Description | Brand/Design | Qty Req | Each | Total | To Date | Qty | Dept | Page No | T/S/O |
|------------------|-------------------|---------|--------|--------|---------|-----|------|---------|-------|
| COMPLETE CANTEEN | CANTERBURY OXFORD | 1 | 220.00 | 220.00 | | | | | |
| | AMEFA 60 PCE | | | | | | | | |

LUGGAGE

LUGGAGE DEPT. L.G. FLOOR

| Item Description | Brand/Design | Qty Req | Each | Total | To Date | Qty | Dept | Page No | T/S/O |
|-------------------|---------------------------|---------|--------|--------|---------|-----|------|---------|-------|
| SUITCASE - MEDIUM | SAMSONITE 550 SPARK | 1 | 155.00 | 155.00 | | | | | |
| | UPRIGHT LIFT OFF BLACK | | | | | | | | |
| | 50CM | | | | | | | | |
| SUITCASE - LARGE | SAMSONITE 550 SPARK BLAZE | 1 | 245.00 | 245.00 | | | | | |
| | 11 BIG WHEEL BLACK 77CM | | | | | | | | |

BED LINEN L.G. FLOOR

| Item Description | Brand/Design | Qty Req | Each | Total | To Date | Qty | Dept | Page No | T/S/O |
|------------------|---------------------------|---------|-------|-------|---------|-----|------|---------|-------|
| FITTED SHEET | CHRISTY ESCAPE PLAIN DYES | 1 | 55.00 | 55.00 | | | | | |
| | DEW | | | | | | | | |
| FITTED SHEET | CHRISTY ESCAPE PLAIN DYES | 1 | 55.00 | 55.00 | | | | | |
| | ASH | | | | | | | | |
| FITTED SHEET | CHRISTY ESCAPE PLAIN DYES | 1 | 55.00 | 55.00 | | | | | |
| | IVORY | | | | | | | | |
| FITTED SHEET | CHRISTY ESCAPE PLAIN DYES | 1 | 55.00 | 55.00 | | | | | |
| | STONE | | | | | | | | |

| PILLOWCASE | CHRISTY ESCAPE PLAIN DYES DEW | 2 | 22.00 | 44.00 | | | |
|-------------|---|---|-------|-------|--|--|--|
| PILLOWCASE | CHRISTY ESCAPE PLAIN DYES ASH | 2 | 22.00 | 44.00 | | | |
| PILLOWCASE | CHRISTY ESCAPE PLAIN DYES IVORY | 2 | 22.00 | 44.00 | | | |
| PILLOWCASE | CHRISTY ESCAPE PLAIN DYES STONE | 2 | 22.00 | 44.00 | | | |
| DUVET COVER | CHRISTY ESCAPE PLAIN DYES DEW KING | 1 | 95.00 | 95.00 | | | |
| DUVET COVER | CHRISTY ESCAPE PLAIN DYES ASH KING | 1 | 95.00 | 95.00 | | | |
| DUVET COVER | CHRISTY ESCAPE PLAIN DYES IVORY KING | 1 | 95.00 | 95.00 | | | |
| DUVET COVER | CHRISTY ESCAPE PLAIN DYES STONE KING | 1 | 95.00 | 95.00 | | | |

BATHROOM L.G. FLOOR

| Item Description | Brand/Design | Qty Req | Each | Total | To Date | Qty | Dept | Page No | T/S/O |
|------------------|------------------------|---------|-------|--------|---------|-----|------|---------|-------|
| GUEST TOWEL | CHRISTY EMBRACE | 2 | 16.00 | 32.00 | | | | | |
| | ATMOSPHERE | | | | | | | | |
| HAND TOWEL | CHRISTY EMBRACE ORCHID | 2 | 20.00 | 40.00 | | | | | |
| BATH SHEET | CHRISTY EMBRACE ORCHID | 2 | 65.00 | 130.00 | | | | | |
| BATH SHEET | CHRISTY EMBRACE | 2 | 65.00 | 130.00 | | | | | |
| | ATMOSPHERE | | | | | | | | |

LIGHTING AND MIRRORS

SECOND FLOOR

| Item Description | Brand/Design | Qty Req | Each | Total | To Date | Qty | Dept | Page No | T/S/O |
|------------------|--------------------|---------|--------|--------|---------|-----|------|---------|-------|
| FLOOR LAMP | DAR KEW | 1 | 199.00 | 199.00 | | | | | |
| HALL MIRROR | ROY EDWARDS R05855 | 1 | 308.00 | 308.00 | | | | | |

Gift Vouchers

Information Desk, Ground Floor

The bride and groom would be happy to receive gift vouchers as an alternative to any item on their gift list. Wedding vouchers are available from the Information Desk on the ground floor and can be printed for any amount.

We have listed below the most frequently purchased values:-

| Value | Qty | Total | Asst no. | Date | Reg no. | Notes |
|--------------|-----|-------|----------|------|---------|-------|
| €25 | | | | | | |
| €50 | | | | | | |
| € 75 | | | | | | |
| € 100 | | | | | | |
| €150 | | | | | | |
| Other | | | | | | |

Please hand this page to the staff at the Information Desk who will record your purchase and ensure that it is included on the summary of purchases made on this wedding list.